Physics of Hydrometer
~Density
p=Mass of fluidVohime of Fluid

ot water

Specific Gravity=p Substance pwWoter

-Buoyant Force

Buoyant Force=p substonce grovity x height x

area=p scupstonce x v by= mosssubstance x
ity = weight of fluid

o

=

fic Growvity is the ratin of a substance density to the
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| Buoyant Force
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H="(2L2x(1-cos[(90-@)+(a-90)])



We are assuming that the center of mass is neglible; therefore,
The new model is represented as a string and ball.
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Level of liquid

Since mass is constant, only the density and volume can change.
Density changes with the different solutions.

The volume changes with the change of angle between the

string and the perpendicular vector to the liquid.

Or in other words, the height of the mass in the liquid.

H<h so the volume of sketch 1 is greater that the volume of sketch 2

p is proportional to 1/VV and V is proportional to R-(d-lcos©)



